HW3: Challenging Lewis Structures
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Directions: Try to draw Lewis Dot Diagrams for the following challenging compounds. 

A Few Hints:

Molecules can have single, double or triple bonds.

The octet of each atom must be fulfilled.

It is possible for atoms such as phosphorous and selenium to have more than 8 valence electrons. 

It is possible for compounds that contain a lot of carbon to form ring like structures.

	HCN
	C6H6



	PCl5
	SeF6



Why is it possible for atoms like selenium and phosphorous to have more than 8 valence electrons? 
